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b

Which result is correct? Cross out the wrong numbers.

6—19— b) 37+(—11):\

2+ (o18) = ool Tacl20
#) 12— (~19) =L L[]
1) 39 — 36 — [-75][-3] 3]

2)

Which result is correct? Cross out the wrong numbers.

a) 177 + (— 144) 1-321[-33]33]/321]

b) 403 + (—17) =[-420][-386 [ 386/ 420

c) 341 + (—238) = |-579[-103 ][ 103 |/ 579

d) 216 + (—275) =[-491||-59 | 59/ 491 |

e) 340 — (— 481) -821|-141 /141821

f) 286 + (—439) = |-725][-153 || 153 || 725 | g) 179 — 222 _\ -401|[-43][43][401]
h) 343 — (—48) =[-391][-295|/295|/391 | i) 121 — (=31) = [-152][-90 90| 152

25 + (—424) = |-449[-399 || 399 || 449 |

j)
3)

Which result is correct? Cross out the wrong numbers.

a) 92 — 16 = |-108][-76][ 76|/ 108] b) 72 + (—33) =[-105][-39]/39] 105 ]
c) 24 + (—45) =[-69][-21]21][69] d) 15 — (—88) = |-103||-73][ 73/ 103]
e) 49 — (—=3) = [-52]|-46]| 46| 52| f) 37 + (—12) = -49][-25][25][49 |

4)

Which result is correct? Cross out the wrong numbers.

a) 34 —16 = [-50]|-18[18][50] ~ b) (—=23) + = [-48][-2] 2] 48]

c) 29 — (—32) = |-61|-3) 3]/ 61 d) 33 — 8—@ -25[25 /41

e) 18 — (—12) =-30]/-6][6][30 f) (—24) — -43][-5][5][43]

g) 19+ (=2) =[-21]]-17][17][21] h) (—32) —( 16) = [-48][-16]]16][48]
i) 6 — 18 =[-24][-12]12][24] i) 17+ (=5) =[-22][-12][12][22]

Good Luck!
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